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Each y—value on g(x) is 2 higher than on f(x)
So, we don't have to start from scratch to graph: g(x) = x+2




Vertical Shifts of Graphs



Vertical Shifts of Graphs

Now that we've graphed: f(x) = x and g(x) = x+2

5 -4 3 2 -1 /lo 1 2 3 4 5 5 -4 3/2:-1,10 1 2 3 4 5

S b AN\ =~ n o s
W)
Lo
o -
S+
0
~
.
(3

flz) = ‘E/}(m) —#lgl@)=x+2



Vertical Shifts of Graphs

Now that we've graphed: f(x) = x and g(x) = x+2

5 -4 3 2 -1 /lo 1 2 3 4 5 5 -4 3/2:-1,10 1 2 3 4 5

S b AN\ =~ n o s
W)
Lo
o -
S+
0
~
.
(3

flz) = ‘E/}(m) —#lgl@)=x+2



Vertical Shifts of Graphs

Now that we've graphed: f(x) = x and g(x) = x+2

5% ANe 2 b o 2
S+
.
-~
~.
(3

5 -4 -3 -2 1 o1 2 3 4 5 -5 -4 -3 /-2 -1'¢ [ 2 3 4 5
N R
f+2/’ 2
y §+2'5¢ .
HER4
flz) = W) = | 9(x) =z +2

What about a new function, h(x) = x — 2



Vertical Shifts of Graphs

Now that we've graphed: f(x) = x and g(x) = x+2

5 -4 3 2 -1 /lo 1 2 3 4 5

b b A\Jo - v e a

Ha) =
What about a new function, h(x) = x—2

5 a4 3f2i 1,
P ’1'1
§+Z/ 5
§+2'5' -3
HIRA
@) =a|9(@) =z +2

Each y—value on h(x) is 2 less than on f(x)



Vertical Shifts of Graphs

Now that we've graphed: f(x) = x and g(x) = x+2

5% ANe 2 b o 2
S+
o
-~
~.
(3

-5 -4 -3 -2 -1 o1 2 3 4 5 5 -4 -3/2 'L’ 0 1 2 3 7 3
N R
f+2/’ 2
- 42,57 3
HR4
flz) = W) = | 9(x) =z +2

What about a new function, h(x) = x—2
Each y—value on h(x) is 2 less than on f(x)
So, we don't have to start from scratch to graph: h(x) = x—2



Vertical Shifts of Graphs

Now that we've graphed: f(x) = x and g(x) = x+2

4

3

2 H

14

42,4

1 11 7
’

0 0l

-1

-2

-5 -4 -3 -2 -1 o1 2 3 4 5 -5 -4 -3 -25-1, [ 2 3 4 5
L
i 2
3 42,57 3
HR4
flz) = W) = | 9(x) =z +2

What about a new function, h(x) = x—2
Each y—value on h(x) is 2 less than on f(x)
So, we don't have to start from scratch to graph: h(x) = x—2

4
3
2
1
0




Vertical Shifts of Graphs



Vertical Shifts of Graphs

In general, for any function y = f(x)

o = N w &

[N

y = f(x)

Lo
AW N



Vertical Shifts of Graphs

In general, for any function y = f(x)
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In general, for any function y = f(x)
The graph of y = f(x) + c is the graph of y = f(x) shifted in
the vertical direction by ¢
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Note: If ¢ > 0 then the graph moves up and
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if ¢ < 0 then the graph moves down



